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A THE - LI4 Fehti T & H
4 A2 4,16 (k)

BREARNIAT 4,21 (H) ~23 0K
5 HEE 2 5,/24°C

H\ (=F) 5/12 (H) ~14 (0K
6 | A 6,/23 (H)

o E AR 6/ 9 (H) ~11 (0K
7 A2 7,22 (k)

S (FoUUR) 7/ 7 (H) ~ 9 (0K
8 | ks 8,23 (+)

% H 8/ 4 (H) ~ 6 (K
9 AL 9,24 (k)

s 9,17 (K)
10| gts 10/ 9 (K)

MIERTA T 1020 (H) ~22 (k)
11} gAs 11,18 ()

PR A4 1110 (H) ~12 (k)
12| z4s 12,/24 (K

SRS 12/11 (K) ~12 (%)
1 HEE S 1,/20 ()

PSSR 1/16 (%)
2 A 2/16 (H)

Hisy 1/30 (&) ~2/ 2 (H)
3 | #mAES 3,13 (%)

O EDY BPLoR 3/ 2 (H) ~3/ 4 0K




